

JOY CONE COMPANY

Quality Cups, Cones, Wafers, and Inclusions a Family Tradition Since 1918





Our philosophy at Joy is...

"offer the customers the highest quality product at a reasonable price and they will become repeat customers."

That is what we do at Joy!

- Joy products pass the most rigorous quality control standards in the industry.
- With Joy, over 100 years of baking experience goes into every item.
- Joy products are superior in taste, strength, and design.
- Joy products are designed for optimum portion control and enhanced portion appearance.
- Joy cones are available in a variety of sizes with jackets in cake, sugar, and waffle cones.
- Joy products come in a variety of packaging configurations.



Joy Cookie and Creme Inclusions



Joy Waffle Pieces Piece Size: ¼"x ¼"



Joy Chocolate Crunch



Joy Chocolate Chip Cookie
Diameter: 3"



Joy Chocolate Wafer Diameter: 3"



Joy Mini Waffle Bowl Height: 1½" Top Outside Dia.: 3'¾2" Bottom Outside Dia.: 2½2"



Joy #87060 Waffle Bowl Height: 113/6" Mouth Width: 4½" Inside Dia.: 4½" Bottom Outside Dia.: 2½"



Joy #450S Sugar Cone Sampler Height: 2.87 - 3.11" Bottom Outside Dia.: Tip



Joy #415 Sugar Joy #310 Sugar (with or without jacket) Height: 4¾" Mouth Width: 1¾" Inside Dia.: 11¼" Bottom Outside Dia.: Tip



Joy #1 (with or without jacket) Height: 41%" Mouth Width: 25%" Inside Dia.: 15%" Bottom Outside Dia.: Tip



Joy Twin Scoops Height: 4½6" Mouth Width: 3½6"x 1½6" Inside Dia.: 2½6"x 1½6" Bottom Outside Dia.: Tip



Joy Kids Cone® Height: 1¾" Mouth Width: 1½" Inside Dia.: 1¼" Bottom Outside Dia.: ½6"



Joy #10 (with or without jacket) Height: 2%" Mouth Width: 2%" Inside Dia.: 1½"

Bottom Outside Dia.: 13/2"



Joy #22 (with or without jacket) Height: 2%" Mouth Width: 2%" Inside Dia.: 1%" Bottom Outside Dia.: 1%"



Joy #30 (with or without jacket) Height: 3½" Mouth Width: 2½" Inside Dia.: 1½" Bottom Outside Dia.: 1½"



Joy #40 (with or without jacket) Height: 3%" Mouth Width: 2%" Inside Dia.: 1%" Bottom Outside Dia.: 1%"



Joy #60 (with or without jacket) Height: 3¹³/₆" Mouth Width: 2¹/₈" Inside Dia.: 1¹/₈" Bottom Outside Dia.: 1¹/₁₆"



Joy #80
(with jacket only)
Height: 4½"
Mouth Width: 3½"
Inside Dia.: 2½"
Bottom Outside Dia.: 1½"



Joy #5276 Waffle Joy #5288 Waffle (with or without jacket) Height: 5¼" Mouth Width: 2¾" Inside Dia.: 2½" Bottom Outside Dia.: Tip



Joy #6216 Waffle Joy #6228 Waffle (with or without jacket) Height: 6" Mouth Width: 2%" Inside Dia.: 2%"

Bottom Outside Dia.: Tip



Joy #7180 Waffle Joy #7192 Waffle (with or without jacket) Height: 7" Mouth Width: 3" Inside Dia.: 2%" Bottom Outside Dia.: Tip



Joy #W7198 Wide Mouth Waffle Joy #W7216 Wide Mouth Waffle (with or without jacket) Height: 7"

Height: 7" Mouth Width: 3¼" Inside Dia.: 3" Bottom Outside Dia.: Tip

PACKAGING

Sleeve Pack

Between 20 and 25 cones or cups to a row. Each row is wrapped in machine sealed film. The machine sealed film provides a tamper evident pack, extends shelf life and that just baked fresh taste. This pack is designed for use with freezer top, side mount, tube dispensers.



Dispenser Pack

Between 100 and 132 cones or cups sealed in a poly bag and packed in a box designed to fit most countertop dispensers.



Bulk Pack

Cones or cups stacked in layers and enclosed in a poly bag. Self-supporting inner packing designed to permit dispensing right from the box.







Joy Cone Company 3435 Lamor Road Hermitage, Pennsylvania 16148 724-962-5747 • 1-800-242-2663 Fax: 724-962-3450

Email: fssales@joycone.com

[1	T
ITEM DESCRIPTION	PACK	COUNT
POINTED CAKE CONES	1,000	Tono
# 1 Joy Bulk Cone	1/338	338
# 1 Joy Dispenser Cone	8/132 1/338	1056
# 1 Joy Jacketed Bulk Cone	+	338
# 1 Joy Jacketed Dispenser Cone	8/132 1/180	1056 180
Twin Scoops Bulk Twin Scoops Dispenser	6/60	360
FLAT BOTTOM CAKE CONES	10/00	1300
Kids Cone® Sampler	28/45	1260
# 10 Joy Bulk Cup	1/338	338
# 10 Joy Dispenser Cup	8/112	896
# 10 Joy Sleeve Cup	36/20	720
# 10 Joy Jacketed Bulk Cup	1/338	338
# 10 Joy Jacketed Dispenser Cup	8/112	896
# 10 Joy Jacketed Sleeve Cup	36/20	720
# 22 Joy Bulk Cup	1/312	312
# 22 Joy Dispenser Cup	8/108	864
# 22 Joy Sleeve Cup	36/20	720
# 22 Joy Jacketed Bulk Cup	1/312	312
# 22 Joy Jacketed Dispenser Cup	8/108	864
# 22 Joy Jacketed Sleeve Cup	36/20	720
# 30 Joy Bulk Cup	1/275	275
# 30 Joy Dispenser Cup	6/100	600
# 30 Joy Sleeve Cup	30/25	750
# 30 Joy Jacketed Bulk Cup	1/275	275
# 30 Joy Jacketed Dispenser Cup	6/100	600
# 30 Joy Jacketed Sleeve Cup	30/25	750
# 40 Joy Bulk Cup	1/300	300
# 40 Joy Dispenser Cup	6/112	672
# 40 Joy Sleeve Cup	30/20	600
# 40 Joy Jacketed Bulk Cup	1/300	300
# 40 Joy Jacketed Dispenser Cup	6/112	672
# 40 Joy Jacketed Sleeve Cup	30/20	600
# 60 Joy Sleeve Cup	22/22	484
# 60 Joy Jacketed Sleeve Cup	22/22	484
# 80 Joy Jacketed Sleeve Cup	16/20	320
SUGAR CONES		
#450S Sugar Cone Sampler	50/20	1000
# 310 Sugar Cone	4/200	800
# 310 Sugar Cone	1/200	200
# 415 Jacketed Sugar Cone	4/200	800
# 415 Jacketed Sugar Cone	1/200	200
WAFFLE BOWLS		
#87060 Waffle Bowl	6/10	60
Joy 12/12 Enjoy-A-Bowl	12/12	144
WAFFLE CONES		
# 5288 Waffle Classic	12/24	288
# 5276 Jacketed Waffle Classic	12/23	276
# 6228 Waffle Classic Regular	12/19	228
# 6216 Jacketed Waffle Classic Regular	12/18	216
# 7192 Waffle Classic Large	12/16	192
# 7180 Jacketed Waffle Classic Large	12/15	180
# W7216 Wide Waffle Classic Large	9/24	216
# W7198 Jacketed Wide Waffle Large	9/22	198
WAFFLE PIECES		
Waffle Pieces 1/4" x 1/4"	10#	
MISCELLANEOUS		
Chocolate Wafers approx. 3"		810
Cookies and Crème Inclusions	30#	
Chocolate Crunch	30#	
Chocolate Chip Cookie		480